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Fiber 876, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.0 1.5 2.0 2.5 3.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1 2 3 4 5 6 7

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

6 5 4 3 2 1 0

Fiber 1371, dchi2frac= 0.9
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Fiber 2967, dchi2frac= 1.0
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Fiber 637, dchi2frac= 1.0
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Fiber 543, dchi2frac= 1.0
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Fiber 2034, dchi2frac= 1.0
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Fiber 1073, dchi2frac= 1.0
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Fiber 580, dchi2frac= 1.0
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Fiber 1427, dchi2frac= 1.0
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Fiber 2931, dchi2frac= 1.0
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Fiber 1334, dchi2frac= 1.0
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Fiber 2975, dchi2frac= 1.0
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Fiber 4181, dchi2frac= 1.0
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Fiber 765, dchi2frac= 1.0
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Fiber 1240, dchi2frac= 1.0
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Fiber 4471, dchi2frac= 1.0
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Fiber 1015, dchi2frac= 1.0
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Fiber 4233, dchi2frac= 1.0
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Fiber 1426, dchi2frac= 1.0
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Fiber 2060, dchi2frac= 1.0
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Fiber 1241, dchi2frac= 1.0
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Fiber 2713, dchi2frac= 1.0
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Fiber 1063, dchi2frac= 1.0
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Fiber 4453, dchi2frac= 1.0
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Fiber 4186, dchi2frac= 1.0
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Fiber 2279, dchi2frac= 1.0
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Fiber 1169, dchi2frac= 1.0
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Fiber 1450, dchi2frac= 1.0
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Fiber 2851, dchi2frac= 1.0
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Fiber 4390, dchi2frac= 1.0
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Fiber 2655, dchi2frac= 1.0
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Fiber 997, dchi2frac= 1.0
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Fiber 845, dchi2frac= 0.9
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Fiber 2143, dchi2frac= 0.9
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Fiber 2887, dchi2frac= 1.0
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Fiber 2807, dchi2frac= 1.0
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Fiber 782, dchi2frac= 1.0
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Fiber 825, dchi2frac= 1.0
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Fiber 1149, dchi2frac= 1.0
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Fiber 705, dchi2frac= 1.0
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Fiber 2616, dchi2frac= 1.0
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Fiber 1061, dchi2frac= 0.9
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Fiber 2563, dchi2frac= 1.0
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Fiber 614, dchi2frac= 0.9
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Fiber 2668, dchi2frac= 1.0
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Fiber 852, dchi2frac= 1.0
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Fiber 4409, dchi2frac= 1.0
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Fiber 4172, dchi2frac= 1.0
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Fiber 1360, dchi2frac= 1.0
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Fiber 1276, dchi2frac= 1.0
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Fiber 1365, dchi2frac= 1.0


